County

Phillips

STATE CORPORATION COMMISSION OF KANSAS OIL & GAS CONSERVATION DIVISION WELL COMPLETION FORM

ACO-1 WELL HISTORY DESCRIPTION OF WELL AND LEASE	C - NE - SE - SW sec. 2 Twp. 5 Rge. 20 X
Operator: License # 5255	990 Feet from S/N (circle one) Line of Section
Name: McGinness Oil Company	2970 Feet from E/W (circle one) Line of Section
Address 1026 Union Center Building	Footages Calculated from Nearest Outside Section Corner: NE, SE, NW or SW (circle one)
City/State/Zip Wichita, Kansas 67202	Lease Name Wiltrout Well # 1
Purchaser: Farmland Industries, Inc.	Producing Formation Toronto
Operator Contact Person: Douglas H. McGinness	
Phone (316) 267-6065	Total Depth 3485' PBTD 3171'
Contractor: Name: Llyod Drilling	Amount of Surface Pipe Set and Cemented at214Fee
License: 3300	
Wellsite Geologist: Douglas H. McGinness	If yes, show depth setFee
Designate Type of Completion X New Well Re-Entry Workover	 If Alternate II completion, cement circulated from
X Oil SWD SIOW Temp. Abd.	feet depth tosx cmt
GAR FNHP SIGU	Drilling Fluid Management Plan ALT 1 J % 7-18-94
If Workover/Re-Entry: old well info as follows:	(Data must be collected from the Reserve Pft)
Operator:	Chloride contentppm Fluid volumebbl
Well Name:	Dewatering method used
Comp. Date Old Total Depth Deepening Re-perf Conv. to Inj/SWD	Location of fluid disposal is the Nation COMMISSION Operator Name
Plug Back PBTD Commingled Docket No. Dual Completion Docket No. Other (SWD or Inj?) Docket No.	Lease Name JUN 2 7 1994 Lease Name JUN 2 7 1994
9/6/90 9/13/90 10/2/90	Quarter Sec. IMD All N v · S Kng. E/W
Spud Date Date Reached TD Completion Date	County CONSERVATION KS
Derby Building, Wichita, Kansas 67202, within 120 days of Rule 82-3-130, 82-3-106 and 82-3-107 apply. Information on 12 months if requested in writing and submitted with the months). One copy of all wireline logs and geologist well MUST BE ATTACHED. Submit CP-4 form with all plugged we All requirements of the statutes, rules and regulations promule.	l be filed with the Kansas Corporation Commission, 200 Colorado f the spud date, recompletion, workover or conversion of a well side two of this form will be held confidential for a period of e form (see rule 82-3-107 for confidentiality in excess of 12 report shall be attached with this form. ALL CEMENTING TICKETS lls. Submit CP-111 form with all temporarily abandoned wells.
with and the statements herein are complete and correct to t	he best of my knowledge.
itte President Date 11	K.C.C. OFFICE USE ONLY Letter of Confidentiality Attached C Vireline Log Received
Subscribed and sworn to before me this 5th day of Nov 19 90. Notary Public Lene Lonke Commission Expires NEE KONKENTIL 8, 1993	Geologist Report Received Distribution KCC SWD/Rep NGPA
COTAPY PUBLIC STATE OF KAHSAS My Appl. Exp. 4-8-9-3	Form ACO-1 (7-91)

			1					
	,		SIDE TWO				•	
Operator Name <u>M</u> C			Lease Hame	Wiltro	out	Well #	1 ,	•
Sec. <u>2</u> Twp. <u>5</u>	20	☐ East	County	Phillips	3			
Sec. <u></u>	_ Kg•. <u>~~</u> [XI West						
INSTRUCTIONS: Show interval tested, tim hydrostatic pressures if more space is need	e tool open an , bottom hole t	d closed, flowing a emperature, fluid re	and shut-in pres	sures, wheti	her shut-in pre	ssure read	ched static	level
Drill Stem Tests Take (Attach Additiona		∑ _{Yes} □ _{No}	Log	Formatio	n (Top), Depth	and Datums	San	aple
Samples Sent to Geol	ogical Survey	□ Yes ☒ No	Name		Тор		Datum	
Cores Taken		☐ Yes ☑ No	Anhydri Topeka	te		42 (+ 4	-	
Electric Log Run (Submit Copy.)		Yes X No	Heedner Toronto	•	312 315	27 (-10 52 (-1	092) 117)	
List All E.Logs Run:	CEMENT	BOND LOG	Lansing Wea. Ar Arbuckl	buckle	346	70 (-1 50 (+14 73 (-14	425)	
ee Attached i	for DST In	nformation.					•	
		CASING RECORD	□ New □ U					
	<u> </u>	l strings set-conduc		·	1	<u> </u>	!	**************
Purpose of String	Size Hole Drilled	Size Casing Set (In O.D.)	Weight Lbs./Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Pe Additive	
surface	12-1/4	8-5/8		214	·	150		
production	7-7/8	5-1/2	15-1/2	3484	200 -60/40 Po 200 - Havs	400		
		•			Lite		1	
		ADDITIONAL	CEMENTING/SQUE	ZE RECORD		L	·•	
Purpose: Perforate	Depth Top Bottom	Type of Cement	#Sacks Used		Type and Percent	t Additive		
Protect Casing Plug Back TD								
Plug Off Zone						,		***************************************
		RECORD - Bridge Plu of Each Interval P			Fracture, Shot, d Kind of Materi	•	ueeze Record Dept	
10 ·	3162' to 3'				15% mud aci		3162'-	
					15% SGA aci		31621	
				1500 841	, , , , , , , , , , , , , , , , , , , ,			
					,			
TUBING RECORD	\$ize 2-3/8"	Set At 3171	Packer At	Liner Run	□ _{Y•s} □	No		
Date of First, Resum October 2,		SWD or Inj. Produ	icing Method F	owing ZPu	mping Gas Li	ift 🗆 ot	her (Explain	1)
Estimated Production Per 24 Hours	1 011	Bbls. Gas	Hcf Water	. Bbls. 2	Gas-Oil	Ratio	Grav	ity
Disposition of Gas:			THOD OF COMPLETE				roduction In	
Vented Sold (If vented, sub			Hole Perf. (Specify)			ngled	3162 - 3	165_
		Uther	(abacith)			-		

ACO-1 Side Two (Cont.)

15-147-20,517 API No.:

Operator: McGinness Oil Company - License #5255

#1 Wiltrout Lease:

Location: C NE SE SW of 2-5S-20W

Phillips County:

Drill Stem Tests:

Test #1: Toronto 3125' - 3175', 30-30-30-30, very weak blow, increasing to fair blow. <u>Recovered</u>: 130' GIP, 20' Oil (33 gravity), & 30' OCM (20% oil). ISIP: 925 psi, FSIP: 925 psi IFP: 33-44 psi, FFP: 55-66 psi BHT - 106 F.

Test #2: Lansing 3190' - 3230', 15-15-15-15, very weak blow for 15 minutes. Recovered: 10' Mud with specks of oil. ISIP: 390 psi, FSIP: 390 psi IFP: 33-33 psi, FFP: 33-44 psi

Test #3: Lansing 3225' - 3275', 15-15-15-15, very weak blow for 10 minutes. Recovered: 10' Mud. ISIP: 422 psi, FSIP: 388 psi IFP: 22-22 psi, FFP: 33-33 psi BHT - 106 F.

Test #4: Conglomerate Sand 3440' - 3463', 30-15, very weak blow for 30 minutes. Recovered: 12' Mud, slightly oil cut & good show of oil in tool. ISIP: 871 psi IFP: 11-22 psi

> RECEIVED KANSAS CORPORATION COMMISSION

JUN 27 1994

CONSERVATION DIVISION WICHITA, KS

TELEPHONE:
AREA CODE 913 483-2627

ALLIED CEMENTING COMPANY, INC.

P. O. BOX 31 RUSSELL, KANSAS 67665



O: McGinness Oil	Company	**************************************	INVOICE NO.	5735	1
1026 Union Cen	ter		PURCHASE ORDER		
Wichita, Kansa	s 67202		LEASE NAME	Wilt	rout #1
		the date of the state of the st	DATE	Sept	. 7, 1990
SERVICE AND MATERIALS AS FOLLO	WS:				
Common 90 sks (@\$5 . 00	\$ 450.00			
Pozmix 60 sks		135.00			
Chloride 5 sks	@\$20.00	100.00		\$	685.00
Handling 150 sl		135.00			
	0.03¢ per sk per mi	193.50			
Surface	_	360.00			
Mi @\$2.00 pmp.	trk.	86.00			
1 plug		40.00	•		814,50
Cement circ.	be allowed UNLY if pa from date of invoice.		TO COT	\$ 1	1,499.50

THANK YOU

All Prices Are Net, Payable 30 Days Following Date of Invoice. 11/2% Charged Thereafter.

to be paid by Lloyd Dilling

reat Bend, Kansas ALLIED CEMENTING CO., INC., Nº 9873

A CONTRACT H	ome Office P. O. Box 31	Russell, Kansas 67665
9-7-90 2 100 Wilton t Well No.	Twp. Range 9-6	3/ - 11/ - 3/ 1/ County / State
Contractor Lloyd Dag (Pipe Rig #/	Owner Same To Allied Cementing Co., Inc. You are hereby requested to rent cementing equipment and furnish cementer and helper to assist owner or contractor to do work as listed.
Hole Size 121/411	T.D. 215	cementer and helper to assist owner or contractor to do work as listed.
Csg. 278"	Depth 214'	Charge Mr. Given SS Dil Course
Tbg. Size	Depth	Survey 10 27
Drill Pipe	Depth	Committee of the same of the s
Tool	Depth	The above was done to satisfaction and supervision of owner agent or contractor.
Cement Left in Csg. /2/	Shoe Joint	Purchase Order No.
Press Max.	Minimum 1991	x Llearage additional
Meas Line	Displace X	- Joseph Unixnain
Perf.	TAP TO	Amount
EQUIPME	NT to be not be prosed to year one	Ordered 150 sks 40 por 2 logel, 3% C.C.
No. Cementer	C	Consisting of Common 90 sky of 500/sl.
Pumptrk /9/ Helper	Wante Me	Poz. Mix 60 sks & 2.25/sk. 735,00
No. Cementer	6 1 No. 8 (2)	Gel. 3 s.ks N/C Chloride 5 1 0 20 09 1 1 10 00
Pumptrk Helper Driver		Quickset 750, 00
Bulktrk #2/2 Bulktrk Driver	Inlen C.	
Bulkur	71 71	Handling 2 90 4/sk / 150 sks 125 00
DEPTH of Job	treated and a treated and a second	75.4
Reference: #1 Cumphuck	surface 36000	7=4/1111 (731111)
	e plus 40.00	1013.
#14 mileage e2.	00/mi 86 00	The Control of the Control of the State of the Control of the Cont
	Sub Total 486	Floating Equipment
	Total	mank:
Remarks: Lement C	incu lated	1414
	189	less charact - 299, -
	TERMINATION OF THE RESERVE	7/99.

INVOICE

REMIT TO:

P.O. BOX 951046

DALLAS, TX 75395-1046

HALLIBURTON SERVICES

A Halliburton Company

INVOICE NO. DATE

		O	Юпрапу		#5/104	904202	09/13	3/1990
WELL LEASE NO./PLANT N	JAME	WELL/I	PLANT LO	CATION	STATE	WELLIF	PLANT OWNE	A TOTAL
WILTROUT 1	F	PHILLIPS			KS	MC GINNES	S OIL C	co.
SERVICE LOCATION	CONTRA	ACTOR		JOB	PURPOSE		TICKET	DATE
OBERLIN	LLOYD DRL	G CO.	TOP	OUTSIDE	PRODUCT	ION CASING	09/13	3/1990
ACCT NO CUSTOMER AC	3ENT .	VENDOR NO.		CUSTOMER	P.O. NUMBER	SHIPPED) VIA	FILE NO.
561220 D. H. MC GINNE	ESS					COMPANY	TRUCK	01503

MCGINNESS OIL COMPANY 1026 UNION CENTER BLDG. WICHITA, KS 67202 DIRECT CORRESPONDENCE TO:

SUITE 1300 LIBERTY TOWER 100 BROADWAY AVENUE OKLAHOMA CITY, OK 73102-0000

PRICE REF. NO.	H A A A A A A A A A A A A A A A A A A A	QUANTITY	. U/M	UNIT PRICE	AMOUNT	R. C.
PRICING AR	EA - MID CONTINENT			**************************************		·····
000-117	MILEAGE	45	MI	2.35	105.75	
		1	1	1	103.73	
001-016	CEMENTING CASING	3484	1	1,095.00	1,095.00	
		1		1,030.00	1,033.00	
030-016	CEMENTING PLUG 5W ALUM TOP	5 1/2		47.00	47.00	*
		1	EA		11.00	
018-317	SUPER FLUSH	7		74.00	518.00	
12A	GUIDE SHOE - 5 1/2" 8RD THD.	1	EA	104.00	104.00	*
825.205						
24A	INSERT FLOAT VALVE - 5"	1	EA	83.00	83.00	*
815.1925	1				,	
27	FILL-UP UNIT 5 1/2"-6 5/8"	1	EA	30.00	30.00	*
815.1931	1					
40	CENTRALIZER 5-1/2" MODEL 5-4	7	EA	44.00	308.00	*
807.9302	•					
320	CEMENT BASKET 5 1/2"	2	EA	90.00	180.00	*
800.8883						
504-308	STANDARD CEMENT	120	SK	6.75	810.00	*
506-105	POZMIX A	80	SK	3.50	280.00	*
506-121	HALLIBURTON-GEL 2%	4	SK	.00	N/C	*
509-968	SALT	· 958	LB	.10	95.80	
507-145	CFR-2	126	1	3.75	472.50	*
507-970	D-AIR 1, POWDER	50	LB	2.55	127.50	*
504-308	STANDARD CEMENT	130	SK	6.75	877.50	*
506-105	POZMIX A	70	SK	3.50	245.00	*
506-121	HALLIBURTON-GEL 2%	4	SK	.00	N/C	*
507-277	HALLIBURTON-GEL ADDED 8%	14	SK	13.75	192.50	*
507-285	ECONOLITE	348	LB	. 90	313.20	*
507-210	FLOCELE	50	1	1.30	65.00	*
500-207	BULK SERVICE CHARGE		CFT	1.10	489.50	*
500-306	MILEAGE CMTG MAT DEL OR RETURN	859.77	TMI	.75	644.83	*

TERMS
INVOICES PAYABLE NET BY THE 20TH OF THE FOLLOWING MONTH AFTER DATE OF INVOICE. UPON CUSTOMER'S DEFAULT IN PAYMENT OF CUSTOMER'S ACCOUNT BY THE LAST DAY OF THE MONTH FOLLOWING THE MONTH IN WHICH THE INVOICE IS DATED, CUSTOMER AGREES TO PAY INTEREST THEREON AFTER DEFAULT AT THE HIGHEST LAWFUL CONTRACT RATE APPLICABLE BUT NEVER TO EXCEED 18% PER ANNUM. IN THE EVENT IT BECOMES NECESSARY TO EMPLOY AN ATTORNEY TO ENFORCE COLLECTION OF SAID ACCOUNT. CUSTOMER AGREES TO PAY ALL COLLECTION COSTS AND ATTORNEY FEES IN THE AMOUNT OF THE AMOUNT OF THE UNPAID ACCOUNT

**** CONTINUED ON NEXT PAGE *****

INVOICE

HALLIBURTON SERVICES

REMIT TO:

INVOICE NO.

P.O. BOX 951046 DALLAS, TX 75395-1046

DATE

MCGINNESS OIL COMPANY

WICHITA, KS 67202

1026 UNION CENTER BLDG.

A Halliburton Company

							1	
MPI LIPAPINO MILITA			*************		·	904202		3/1990
WELL LEASE NO./PLANT NAME		WELL/I	PLANT LO	CATION	STATE	WELL/F	WELL/PLANT OWNER	
WILTROUT 1	-	PHILLIPS	raghandrich (ens sein, seath, sea		KS	MC GINNESS		
SERVICE LOCATION	ACTOR		JOB PUF		TICKET	DATE		
OBERLIN	LLOYD DRL	g co.	тор	OUTSIDE PE	RODUCT	ON CASING	09/13	3/1990
ACCT. NO. CUSTOMER A	GENT	VENDOR NO.	***************************************	CUSTOMER P.O	. NUMBER	SHIPPED		FILE NO.
561220 D. H. MC GINN	ESS				-	COMPANY	TRUCK	01503

DIRECT CORRESPONDENCE TO:

SUITE 1300 LIBERTY TOWER 100 BROADWAY AVENUE OKLAHOMA CITY, OK 73102-0000

PRICE REF. NO. (DESCRIPTION	QUANTITY	U/M	UNIT PRICE	AMOUNT
	INVOICE SUBTOTAL DISCOUNT-(BID) INVOICE BID AMOUNT *-KANSAS STATE SALES *-DECATUR COUNTY SAL				7,084.08 1,544.33- 5,539.75 175.14 41.22
				,	
	INVOICE TOTAL - PLEASE PAY THIS	5 AMOUNT ==	====	=======>	\$5,756.11

TERMS
INVOICES PAYABLE NET BY THE 20TH OF THE FOLLOWING MONTH AFTER DATE OF INVOICE. UPON CUSTOMER'S DEFAULT IN PAYMENT OF CUSTOMER'S ACCOUNT BY THE LAST DAY OF THE MONTH FOLLOWING THE MONTH IN WHICH THE INVOICE IS DATED, CUSTOMER AGREES TO PAY INTEREST THEREON AFTER DEFAULT AT THE HIGHEST LAWFUL CONTRACT RATE APPLICABLE BUT NEVER TO EXCEED 18*0 PER ANNUM. IN THE EVENT IT BECOMES NECESSARY TO EMPLOY AN ATTORNEY TO ENFORCE COLLECTION OF SAID ACCOUNT. CUSTOMER AGREES TO PAY ALL COLLECTION COSTS AND